Soustraction Avec Un Zéro (A)

50
- 41

50
-12

700
-181

60
-23

100
-63

60
- 45

700
- 294

Calculez la différence.

500
-56

90
- 82

10

400
- 266

40

70 200
- 38 -13
900 80
- 624 -73
200 40
-77 - 37
80 20
-27 - 20
600 10
-435 -3
500 60
- 500 -49
80 200
-52 - 169

200
-161

700
- 285
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Soustraction Avec Un Zéro (A) Réponses

Calculez la différence.

50 70 200 500
-41 - 38 -13 -56
9 32 187 444
50 900 80 90
-12 - 624 -73 - 82
38 276 7 8
700 200 40 10
-181 -77 - 37 -2
519 123 3 8
60 80 20 400
-23 -27 - 20 - 266
37 53 0 134
100 600 10 40
-63 -435 -3 -1
37 165 7 39
60 500 60 200
- 45 - 500 -49 -161
15 0 11 39
700 80 200 700
- 294 -52 - 169 - 285
406 28 31 415

Mathslibres.com




